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CLASS: 1l SUBJECT : MATHEMATICS  DATE : 29.07.2021

TIME : 40 mins MAX. MARKS: 20

GENERAL INSTRUCTIONS:
e All the questions are compulsory.
e Question paper consists of 20 questions.
e Verify your answers thoroughly.

1.Choose the correct option: (1X7=7)

a) ) The difference between two numbers is 456. If smaller number is 1732, the
bigger number will be:

(i) 2188 (ii)2811 (iii) 1818 (iv) 1276

b) If we interchange the digits in hundreds and ones place in 5497, then the
new numeral will be :

(i) 5794 (i) 5974 (iii) 5749 (iv) 5479

c) Mohit has 1682 more than Raj. If Mohit has 6532, how much money
does Raj have ?

(i) X 7500 (i) X 4540 (iii) X 4850 (iv) X 6900
d) Tick the correct ascending order:

(i) 2015, 1058, 9358, 7042 (i) 5492, 3813, 7600, 5290

(iii) 1500, 6794, 8030, 9999 (iv) 3452, 3243, 7645, 2341

e) There are 1793 students in one school. The nearby school has 1243 students
more than the first school. How many total students are there in both the
school ?

(i) 4892 (i) 4889 (iii) 4928 (iv) 4829

f) The and of 0 is always O.

(i) Successor and Predecessor (ii) place value and face value




(iii) Successor and place value (iv) Successor and Face Value

g) ) If we add 10 to 6790, the digit at place increases by 1.
(i) ones (i) tens (iii) hundreds (iv) thousands
2) Write True or False : (1X5=5)

a) The successor of 346 more than the greatest 3 digit number is 1346. (True)
b) 6000+40+5 =645  (False)

c) 2 thousands - 16 tens = 19 hundreds - 6 tens  (True)

d) The difference between the successor and Predecessor of a number is O.
(False)

e) If we subtract a number from itself we get 1. (False)
3) Fill in the blanks : (1X4=4)
a) ) A number greater than 6356 and less than 6367 with 3 in ones place is

b) The difference between the place values of 7 and 3 in 3872 is
¢) 12 hundreds + 80 tens = thousands

d) The smallest number formed by the digits 4, 7, 0, 6 is

(1345, 4067, 2, 6363, 2390 )

4) Match the following: (1X4=4)
a) Two thousand two (i) 2441

b) 11 tens less than 25 hundreds (ii) 2002

c) 2031+ =4472 (iii) 2207

d) 1345+95 +767 (iv) 2390
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